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INSTRUCTIONS TO CANDIDATES

You showld heve the following for this examinatton:_\©
Answer hookler;
Drawing papers (preferabiy AT but A wisky alvo be sufficient):
L awting Istruments;
A ron programmable scientific calenlator
This paper consists of EFGHT questions in FOUR sections: A B. € and B,
Answer FIVE yuestions, taking af least ONE question from each section in the answer booklet
provided
Mircimum marks for each part of a guestion are as showne
Candidates should answer the guestiony in Englich.

This paper consists of 6 printed papges.

Candidates should check the question paper to ascertain that
all the pages are printed as indicated and that no questions are missing.
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Chven that AC= 15 mm, DB = 20 mm and OC = 25 mm, copy the diagram and
plot the locus of midpoint of the Imk as the erank rolates in an anticlockwise direction.

(11 marks)
b} Iustrate the three types of it as per the BS43004, (D marks)
SECTION B: WORKSHOP TECHNOLOGY
Answer af leayt ONE question from this section.
3 (@}  Using a diagram describe the lefi-ward pas welding technique. (5 marks)
{h)  Thestrate the following defiects that oecur in manual metsl arc welding:
(1) undercut;
{ii}  overlay:
(iii}  blowholes.
{6 marks}
{c) State the three functions of a scnl:nmg hlock. 3 marks}
d) (@ State twio types of surfaces produced by & shaper machine
{11}  Describe the quick return mechanizm applied in a shaper machine,
{6 marks)
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Give two measures undertaken to reduce hazards associated with ol undecgronnd
storape tanks in relation to each of the following:

{1} Location: {2 muarkst
(i}  Spill and overfill equipment (2 miarks)
(iii) Vet pipes (2 marks)
(v)  Tank operings (2 tharks)

Outling eight measures undertaken during the implementation and moniloring
stage of an environmental health and safety management system in a compeny.
(8 marks)

State four mitipation measures by the petroleum industry on untreated effluents tich in
inarganic salts which are discharge into nvers. (4 marks)

SECTION D: LEGAL AND POLICY FRAMEWORK
IN PETROLEUM EXPLORATION

Arswer at least ONE question from this section

State eight lunctions of the Nationald.and Commission of Kenya as per the National
Land Commission Act, 2012 (B marks)

Explain each of the following taxes levied by the Kenva Revenus Authority:

(1} Corporation Tax; (2 marks)
(it} Pay As You Earn;, |2 marks)
(i}  Valne Added Tax (2 marks)
{1l (I} Explan Benchit-Cost ratio as used o cost-benefit analysis, (3 marks}
(II}  Give the formula of Benefit.cost ratio. {1 mark)

() Cave two Timmtations of the benefit-cost miio. (2 marks)
5 Turn over
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